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Haryana Police Constable 1 Nov Evening (4th Paper)

Starting from point P Satish walked 20 metres
towards South. He turned left and walked
30 metres. He then turned left and walked
20 metres. He again turned left and walked
40 metres and reached at point Q. How far
and in which direction is the point Q from the
point P ?

(A) 20 m West
{C) 10 m East

{B) 10 m North
(D) 10 m West

isa 32-bitnumber, normally
expressed as four octets between

the periods.
(A) IP address  (B) Domain name
(C) Port (D) None of these

in India Right to Property is a
(A) Constitutional Right

(B) Both (A) and (C)

(C) Fundamental Right

(D) None of the above

Who among the following belongs to level Il in

the police hierarchy ? -
iﬂ%’ =

(A) Constabulary
(B) Director General of Police (DGP)

(C) Deputy Superintendent of Police (DySP) -
(D) Sub Inspector

If == =0.2689, then the value of

1
3.118 \b

—— g :
0.0003718 \$$
(A) 0.2689 (B) 2689 \

(C) 2.689 (D) 26890

Who wrote “Asthangasangraha” ?

(A) Vishnusharma
(C) Vaghbhata

(B) Varahamihira
(D) Vararuchi

In this question, two statements are given
followed by two conclusions, Choose the
conclusion(s) which best fit(s) logically,
Statements :

1, SomeAareT.

2. AllTisB.
Conclusions :

I. Some B is not A,

Il. No Ais B.
(A) None of the conclusion follows
(B) Only conclusion Il follows
(C) Only conclusion | follows
(D) Both conclusions | and Il follow
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1. fi p & v w0 weftm 20 4. 2fon i A =@ |
a;mgswmzommuﬁ(miga&?ﬂzoﬁ.
wer | 4% g At gz s 40 . = 3 fig
qa% wdan | fag p @ fig a e g 3 Frm
feen s @ ?

(A) 20, afvas (8) 1073, 3T
(c) 107t gd (0) 107+, 9fesm
2. u# 32-faz v 3, amrae. FaEfug &
e 9n 3eF % =0 4wy o A 2
(A) T8 At e (8) 2184 F19™
(C) a¥é (D) 34 4 #13 78
3. wna ¥ gufe &1 Afwn 2
(A) HauT At
(B) (A) 3K (C) 3 -3
(C) Hiter AferwR g%
(D) 39t ¥ & HIE 72 &

4. Fefafes 4 @ 95 ofoa e 5 1= d
MRANY

(A) GH1
ﬁémsmm gferg ()
) QU= 3T gfers (Zhuad)
(\ro(D) qF
X4 1 1
\\\5. e ——=0.2689, qft —— =15 =
o 3.718 0.0003718
(A) 0.2689 (B) 2689
(C) 2.689 (D) 26890
6. ‘orermEue’’ frma i ?
(A) fareoperi (B) =rEfER
(C) anye (D) Twf=
7 ga bC ﬁ%;; rm% ﬁgw g 3;
forsad | 3 frey
LR SRR AL
Shd § |
1. FSA, T
2 %?ﬁ T,B% |
| % B, ATE ¥ |
II, Y5 A, BIEI & |
(A) a1 | IS freend REETG
(B) haet || STET T B
(C) | T &
(D) | 3T 11 ST 1| & &
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10.

11,
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Which of the following ;
o g is

(A) Antivirus TN tYpe of Viryg 3

(B) File-infecting virus |

(C) Polymorphic virus

(D) Stealth virus

In which year India be

United Nations ?

(A) 1965 (B) 1945

(C) 1991 (D) None of the aboye

‘Inequality Report, 2021" : Ingia‘s e

Healthcare Story was releaseq by "

{A) Ministry of Home (B) NIT) Ayog

(C) UT Madras

came a Member of

(D) Oxfam Ingia,

Which of the following is an example
for day neutral plants ?

(A) Cucumber (B) Onion
(C) Carrot (D) Radish
What comes next ?

AN A D 2

(A) (B)

d
D

(C) (D)

Find the missing number. N\
gy
39 81
1 il
A) — Bl
W 6561 (E) 6461
1 1
e D) —
(C) (D) T

the memory manager places
ss in the largest block of unallocated
ilable.

(B) First Fit *

(D) WorstFit

s A E
_al
@A
P
(A)WW
(8)%‘6““
Q) S @ et 51 1
9. wa ¥ (8) 194° : 3 o A
(A} 1965 (D)gqﬁﬁ“ﬁ
(c) 1991 s 2021':@“‘“@3'75
g
(A) 'Iﬂmgﬂ (D) Wm%?
e T
11. ﬁqﬁ;f:; (B)m
‘(gw (D) T =T
O
12. sy for 1 &1
W D ?
=
S G (8)
O
>
() D (D)
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15. World No Tobacco Day is celebrated every 15. fovg darg Py Remafaad sy,
year on ST R |
(A) 2™ June (A) 2™ 3[4
(B) 3 April (B) 3" 3r¥e
(C) 31%May () 31" 7§
(D) None of the above (D) 390 H & FI3 TE
16. When IT Act, 2000 came into effect ? 16. am$d srfufiaw, 2000 F& ar] e ?
(A) October 17, 2000 (A) 17 AT, 2000
(B) November 11, 2001 (B) 11°19siT, 2001 -
(C) October 17, 2001 (C) 17 3ragaw, 2001 g@;
(D) November 11, 2000 (D) 117dsR, 2000 2310
17.  Marked price of an article is Rs. 275. Shopkeeper 17. T& &g &l HAfra qed %, 275 2 gHMHN 3Fﬁ
allows a discount of 5% and he gets a profit of 5% i BT 2a1 & 3N 3 4.5% =19 e 2, @
4.5%. The actual cost of the article is g = AT @ 1R 7
(A) 250 (B) 210 (A) 250 (8) 210
(C) 225 (D) 215 e (C) 225 (D) 215
18. How many odd days are there from Akl 18. 1 SHa{t 2011 ¥ 31 fe@a 2015 7% a4 faun
1* January 2011 to 31* December 2015 o ¥ g ) ?
(both day included) ? L . (st F 8 3
(A) Six (B) Five (AL (8) U
(C) Four (D) Zero 6@ =R (D) A
19. scheduling employs a technique 1&&5 : ‘:fl'{q[{‘*riﬂ T dh-l® @an & 99 2en
called time slicing. AR FEd # |
(A) Shortest Job First (SJF) Q@ (A) YR ITE H& (SIF)
(B) Round Robin e (B) TS e
(C) First Come First Served (FCFS) $$ ’ (C) B& +H B gae (FCFS)
(D) None of the above $ (D) 3 ¥ @ IS 7
20.  Amixture of 20 kg of spirit and water contains | 20, feifte 3 Tt ¥ 20 kg 3 frsror F 10% T 2 |
10% water. How much water must be added to ' e firerrn =i
this mixture to raise the percentage of water o A ar it e
to 25% ? foRTa 25% B ST ?
(A) 4kg (B) 30kg (A) 4 kg (B) 30 kg
(C) Ske (D) 8keg (C) 5keg (D) 8kg
21.  Who called architecture of Aihole as “Cradle 21, TR R ) A Y BRLGIRR e el
of Indian temple architecture” ? HIIFH A FEl 2?
(A) Huan-Tsang (B) Sulaiman (A) BCH-TGMT (B) gowmM
() iisrcy;lﬁrown (D) Max Muller (C) weff 539, (D) ¥ ewrt

X
22, ME@ 22. AZBYDWGT??
, /hat a Xt'two letters that shoyq ST et § s firvg & o qU -2 3

replace the question marks ?

(A) LP B)im e i
() kP (Blk@: 8 22; »L<i:> fg; :2'3

Scanned with CamScanner



What was the rank of |,
Hunger Index, 2020 ?
(A) 94!h
(c) 38"

2 n the Glgpy,

(B) 102ne

(D) None of the g,
0\'(\

24.

What is the number of pn;
DIG “ 2
cube can be cut by five cutsc?: (l;',“lo Which »
S g .

even cuts | : . One
and s in another dlrec_hOn . Irection

L} s (B) 35
S (D) 12

25, In Microsoft Excel to drag the selected cq|
‘ $ to

way' a different sheet, hold down the -
- Y and
%ﬁ% drag the selected area onto the sheet labe|

(A) Enter (B) Alt
(C) Shift (D) Ctrl

Military exercise of JIMEX is associateq
between India and

(A) Bangladesh
(C) China

26.

(B) US
(D) Japan-

27. Which of the following is true about KYC ?
i. The Reserve Bank of India advises banks
to make it mandatory for opening
accounts.

ii. Its full form is Know Your Customer.

iii. Low income group customers are O

A

exempted from submitting KYC. ¢
(A) Only i and iii (B) Only ii andii
(C) Onlyi (D) Allth ee

If 18 pumps can raise 2170 tonnes of water in
10 days, working 7 hours a day, in how many
days will 16 pumps raise 1736 tonnes, working
9 hours aday ?

(B) 6

(A) 9
(C) 7 (D) 8

The following become meaningful words, if
two letters interchange their places

I. LETRET Il. MIDELD
IV. PERDOI

28.

29,

lil. VISNOI
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23,

24,

25,

26.

27.

\

il

28.

29.
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@t |
(A) Enter
(c) shift

xwﬂﬂm‘"‘"’“mﬁ':ﬂ‘)n'""""am:‘;I

JIME
(B) ITH
(D) A9

]  SrfrRa 3 & 1 9 & 7
iﬁﬁ%aﬁ,aﬁﬁm@aﬁm
\O mmﬁm%m%%l

7 =9 Al HEHL ' |

i ot ot o e o 3 &

AT |
(A) et § 3 i (B) Fa ii ST i
(C) ¥ i (D) wfi i
e 1899 Wfafed 7 & s e 10 T ° 2170 H
UMl e §hd &, al 16 U9 feq o 9 HE wH &
e ot 1736 < Ser@ ?
(A) 9 (B) 6
(C) 7 (D) 8

Feferiea o wnetes &% & 14T ®, e Q) 318w
ST TA JT0T oae o
. LETRET

: I,
Ui, ViNG MIDELD

IV. PERDOI
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31.

32.

33.

35.

36.

37.
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# afte # Fe forgg
i . @ \ 3 5%
In a galvanometer 5% of the total current C"; 30 e T 2 Aeaardiet &1 gl o N
the circuit passes through it if the res!s:a;:ce Ao foregd ST Wiy cs 3
of the galvanometer is G, the shunt resista HreaAmiet ¥ 95 (8] 1
S connected to the ga!vaﬂl:"‘“!?:;!(sr i3 (A) 206G 9G
(A) 206 bdiy G () G
&/ 6/ (€ AQ _ A/20
{0 Haq ©) Y50 syt 1 wT 304 foroa gafim 3
| 31, ‘
Section 304 of Cr.P.C. deals with (A) ﬁg{ﬁ <l AR
(A) Order of release (8) st &1 G
{(B) Protection of accused - © qrirq AT é}:ﬂ o
(C) Withdrawal of accusation b (D) fafeaa qrHAl H # Tt & ey 3 By
(D) Legal aid to accused at Stat€ RPHIES S A1 @]
certain cases X % B c 3 .
: i t . A B ﬁ a-g:" ' ) T:T Lot
A is twice as fast as Band BIS 'thqf/er?;:?ssw?lsl 3z ot Ly e & #1778 T Az R
C is. The journey covered by Cinln el ? "
be covered by Ain o . 15 firzs
: 15 minutes (A) 1920 (B) 15T
(A) 1 hour (8) . () 30%m
(C) 20 minutes (D) 30 minutes () 20 iil.IZ e
Critical angle of glass is 6, and that of water 33, M & §5|ﬁ| a;” I 91% . —'.W' Tié
is 8. The critical angle for water and glass GR;@‘(ETH W:Fl ST 17 2T
surfacewouldbe(pg=32,llw=%) §9g=32,uw=é)
(A) less than 8, (B) between 6,and 6, (b> (A) ezimw (B) 6, ﬁ’ 0,5%
(C) greaterthan ®, (D) lessthan 8, &‘0 (C) 6,8 Afer (D) 6,8
N § v
Who was the flag bearer at the opening 9 34. I ﬁl’l‘%ﬁﬂ, 2021 % JqHIE HHNR 7
ceremony of the Tokyo Paralympics, 2021 AU A 9 ?
(A) Bharatbhushan  (B) BhavinabesiPatel- (A) ST (B) wifeEA @
(C) Sumit Antil (D) Tek Chand . (C) gfta <ifaet (D) I&F =
Water logging in soil is avoided by use of 35. ﬁ%ﬁm Jammsfom_ 77
(A) Potash (B) Manure (A) ﬁﬁ;mm% I (8) W
(C) Zinc (D) Calcium (c) o= (D) ¥
The ratio of the amounts of A . ‘ L 2lE
the sum of their amount isa?ga%g' \3Nahr;c: i ?rf;?( B 3 TR BT 4 2 iﬁv/
amoulnt in rupees should A give B.to méke the 1A E. 700 21AB = el T
ratio1:17? TSt
: &l : ?
(A) 50 &) T 1 : 1 8 WY
() 200 150 (A) 50 (B) 150
(D) 100 (C) 200 (D) 100
Which of the followi , : A
Vatsalya” in order to help wgal &0 “Mission e vy Frafafag o @ #9-9 e ?
tl;etr husbands to COVID-1g7 1 Who lost T fdty e ‘e g’ el
(A) Maharashtra. (g) Haryang (A)
(C) Kerala D) None (BRI (8) sltﬂla' ﬁl A7
~ "'ihe apove (€) e (D) 3%

38.

39.

40.

41.

42.

43.
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Damaging Stage of '0
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(A) Larvae c(‘;ts is sS4
() Egg Caterpy)
- e (D) Nymphsars m.i& fagh oy wifrares FIE %(e) N
a |finacertain code - Wasm s Fzifie
39’ s, hen hos\', \SiH“')GE’ IS wrig s, @E’; oy (0y Fr i T
in that code ? LESSON 0N ag SR B
(A) OSLNES  Writte 39  #b Bra g2 |, ‘BRIDGE’ ! ‘GBDERY ferman
(B) o n . ufy o PR RS iy .
{C) OLSENS ( LSNEgg e & 230 42 3 ‘LESSON” 1 &8 foret smam ?
D) OLNSES (A) O‘S.LNES“ (B) OLSNES
10. By default, Microsoft word (200 (C) OLSENS (D) OLNSES
are saved with exten )3) d Umeny . :
(A) .doc VIO, | 40, urgpreia @€ (2003) TR IS
: (B) txt forrron 3 v el €19 2 |
(C) Xs (D) Ppt (A) .doc o}
4. The number of diagonals in a oct (C) xlIs (D) .ppt
380N will be ; £\ g it
(A) 16 (B) 28 41, @Wﬁﬁiﬁ“ﬁ 51 AT B
e 20 (D) 10 (A) 16 (8) 28
ch one of the foll (22 et
§2. Which one of the following is not an
of lgneous rock ? ample | 4, ffufd § @ FHA-E1 TF FEE TZH H
?
(A) Basalt (B) Granite e & (B) 3
; A) SEIE PRIES
{C) Gabbro (D) Limestone ((5?0% (D) < T
3. Who s the Vice-Chancellor of Lala Lajpat Raj a3 ®§WO # o SATel dea UF q@ﬁqu( =
University of Veterinary and Animal Sciences ‘ 5 39
E situated in Haryana ? \\\(00 mﬁaﬂﬁﬁ.[éﬂlau % IY-FAId B @ 7
(A) Harbajan Singh.  (B) Gurdial Singh ) p" (A) T T (8) T
(C) Ranapratap Singh (D) Arbindo SI@\ (c) Tromsay & (D) e e
4. The volume of the cylinder whose he@ht is 44, 3E S T TG Torehl 13 14 i TR =R
14 cm and diameter of base 4 cm is &1 =4 4 9t ®
(A) 352 cm? (B) 176 cm? (A) 352 G (B) 176dH®
(€} 196 cm? (D) 276 cm? (C) 196§t (D) 276THE
5. In 2 certain language, PYRAMID is coded as | 4 Ly ﬁf\’?ﬁ T ﬁ%::mwgﬁ 162;811;291:
- 16251811394, DEAR is coded as 45118, then Ll STl ®, DEAR .
EG will be coded as Fea, fohan ST 8, @ KING =i ER
t7 e, feran s |
1 (B) 119417 (A) 191147 (B) 119417
(D) 111947 (C) 119147 (D) 111947
46. TEYTHTH, (WML) F1 Haers 8
5 ‘pmgua A (A) aTters Ardharg e
| ‘ (B Wﬂ ﬁ ga
‘Language )
L () i S
(D) 9 wrhary S
7 | Y20
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47. Uruguay Round negotiations aré related to

(A) UNCLOS (8) WTO
(C) BRICS (D) SAFTA

48. Cyclical changes during reproduction in COWS
are called

(B) Oestrus cycle
(D) Sexual cycle

(A) Asexual cycle
(C) Menstrual cycle

A number exceeds its one-seventh by 84. The

number is
(A) 14
(C) 196

49.

(B) 12
(D) 98

50. The Great Depression began in

(A) 1920 (B) 1926 -
{C) 1945 (D) 1929

Neena returned house after 3 days earllf’er than
the time she had told her mother. Neena’s sister
Veena reached five days later than the day Neena
was supposed to return. If Neena retu;ned on
Thursday, on what day did Veena’return :

(A) Sunday (B) Friday

(C) Saturday (D) Wednesday

51.

52. Which of the following is the water

conducting tissue in plants ?
(A) Collenchyma (B) Xylem
(C) Phloem (D) Parenchyma \2\,8

53. Complete the following analogy :
20:11::102:7? :
1 (Af 49 * 2

(C) 52

(B) 98
(D) 61

54. sends the appropriate funds for the

transaction to the Credit Card Network which
passes the funds to the Merchant’s Bank.

(A) International Standard Organization
(B) National Merchants Association

(C) Indian Customer Association

(D) None of the above

35.  National Bank for Agriculture and Ryr|
Development (NABARD) is fully owna
(A) Reserve Bank of India y Med by
(B) State Bank of India
(C) Government of India
(D) None of the above

Join Telegram Group "HaryanadJobs.in"
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(8) ‘;‘:;7;'"1‘”%:;’;_

(D) 55

) AT

(c) foree
rdt & g9 F

47.

m —a‘l:;? 7::’4’3: ,-;;3

(B) T4
o 1 H 84 =

s gA Aﬁa &
(42

(A) 14 e ;
(€) 196 a

D
49. .

qgr:m‘ﬁ____.___qu’:_’f
(A) 1920
(C) 1949 ‘
fr7 oAt A1 I FAC FHE H T
et & | A1 I =TT =0 IS =
o0 gt i sE A 8 s A am ==
wﬁﬁa,aﬁmﬁﬂﬁ?ﬁé“
(A) Taar (B) AT
(g\ (D) T9=R

s2: OPefian 1 - e o

,bﬁ\(b (A) FIAHRIZHI (B) Sz
(C) FAIH (D) ¥a=m

frfoiea sesgar g s -
20:118%:9082': ?

(A) 49 (B) 98
(C) 52 (D) 61

I 3G A B, < e @ =
ST |

(A) ST T GiTaA

(B) T =TI TRy -

(C) “efta e wfyew

(D) I § § d e ‘

Wt g e 2AEC
70 T { F i e |
(A) %

b
HER
(D) U0 & | +E i

<

; G

50. (8)

ok et
v w
NN
w o

(D)

o —
g T
« T »

51- R
—
i }‘:\~

—

Forey

-

S -
HILS =7

=}
&
|

¥

53.

T

=

=t

54.

55.

sy
¥ «

1

£ o

T M
.
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—
-
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Generation of diVersity an

" 3 dth
giversity by environments eg

3pin
‘ Selection isgc;f;!he
(A) Trans gradation &g

(B) Evolys
() Degradation Volutig,,

©) Reproduch’o
n

piodegradable polymer among the
(A) Nylon-2-nylon-6

(B) Neoprene -

(C) Melamine polymer

(D) None of these

fO”C’Wing is

Ok

ine devel )
steam Engine deve oped by — i1
was the landmark of industrialisation,

(A) Ferdinand Cohn  (B) George Stephengg
() James Watt (D) James Hargreavesn

select the correct mirror image of the given
figure wher,l the mirror is placed at line Ap

———

coviD-19
LOCKDOWN
#

er +daivod
MWOQX20.

er-aivod
MWOaID0J

(A) (B)

er-aivod
MWa0X00J

Q
(€) (D) None %&t&se

60. AutoShapes contain several categories of
shapes, including
(A) Basic shapes

law
)ry GAAR is an anti-tax avqidar;cliais'
to curb tax evasion and avoid ta
\AR stands for ?
ti-Avoidance Rule

9

56,

27.

58.

59.

61.
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wataita 994
%Fatmmszdm::‘;mm
zro fafavdt #1 arapiL Ta TR
Frem & | @) B
(A) starEali® m‘?*'“
(c) Frefre () )
fmﬁqﬁgaﬁﬁaﬁm‘mmﬁ’lagﬁ?ﬁ p
(A) maﬁ—z—qmaﬁ-s g%
(8) frardia
(C) firdurgd 9D
(D) i @ 1S A al
17738 sroy Pt 9 33 ST
3 et =1 Tedt 41 | )
TA?l%ﬁ’sﬁﬁ (8) S w5
(c) g |ie (D) == FEH
ﬁnﬁw@ﬁwaﬂz&wgﬁﬁagﬁqﬁmﬁ
%@Aamtglam% [
covip.-
L WN
07—
er-aivod B) of + QIvOd
®) | pwoaos @ [
e () T & FETE
e # sgfr A S AR & # e
— wifE®
(A) 3ema smRfaat
(B) Waﬁ
(C) Taait
(D) T wsfi
PR GAAR sTca 3 e it e ot 3
%‘?&2?‘1%;{.1@@%% | GAAR %1
e
AR-amfigh vt
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FLVS 62 3
ﬁ ?m 5wl it o aa
M&WQW 3 qaa e . :h,
62. M A 7. 6,000 | s 2000 3y 11§
Hem e 3 T H gy
(A) 23 | v}
(€) 21 ) &
g ) b 2
53. ish B ﬁ}; q a2 sz;;)Chw B ’ (A
v bers that 13 30 @ wrt A g 4 N (C
= birthday ¢ on or after G A HN B B o e "
ppret slster o is definitely 11 30 ) 1 30 e o y O W, 2. W
their father T Q355 et w1 ey . 05 A
“"fn;;e?'ns il 12 - (A) 13 3rd&t ’ o &“ 3}1
ir Fa N 9 =
t(:prrfll-" i (C) 11 3% (D) 10 38 (A
{C) April 11 64. “se=arqune (Ruftre wrsens. ¥ e (c
64. Acefﬁﬁ“‘e. TSIFATA AR 3 3w 73. M
Counselling” is TS (A) ¥t favafeemem ’ (A
(A) Kerala Univet sity ». (B) ¥ favafiemem (c
(8) Mysore UNVER (C) wframn fawafyaem
((3 g::::u (D) Tsrra favafaemem 74 W
ivileges and | 65, g WHR WO § REwREE o g
65. ome people SRR fereror, e a5 5 s = ¥
_i:;';"'eees I S o, v o i (c
: (OQ(O(A) HIHTIN ST B
Q7 | TS el =
N\ (C) wrTiSTeh AT ¥
& (D) IqU | | FIE 7 (¢
nere Y,| 66. ¥ et H, GEORGE A MARY F &1 77 .
rom ANN, 1, T3 TED I ANN, EDNA, JOANT 41 o
Boose ? QT qreft 1 T HE A | ﬁ'r“av .
(A) ANGELA (8) JOANN e
(C) EDNA (D) AN _ (2
67. mhffﬂa‘sﬂmm%w)m B
i R
ot | ea wEmiEEd m—"%ﬁ 3
oun ; l
_ o At S
m e a8 G
SIS & bl
(C) AR SA fe
es the | 6% géﬁ ad wFH ﬁmjﬂ o
) |
I in 5 e w1 e 3 g E o 8
(A) 'szm ailil I (D) Qz‘m
() Yol S
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$ (C) Extemal (D) NOne : ang (C) 70, I}qﬁ v ﬁﬂaﬁ (B) (A) 3T (C)fr:ﬁ
b Ot thee, ariaft® i F1E A8
| hichcityis called as “Manp, hese W i (D) ¥ & R
P ax SO Of Japan G " 251 ST & 7
§F ) Yokoham (B) Fukyg. "2 earrerry 1 AR
Uoka 1. fpg ggeA A ST
: (C) Kyota (D) Osak, A (8) %
: et (D) AT
) y ) oA
_ which number will come in the | (€) '
yestion mark ? e 72. vy fag H WA T - w7
 go7)6, 4(56)5, 6(75)4, 7(2)8 o se)s, 6(75)4, 778
| (A) 88 (B) 98 bl (B) 98
88097 (D) 89 (A) 88 (D) 89
(C) 97
Metalloid among the following is 3 B
39
(A) Lead (B) Tellurium e ﬁ-;:;-f:ffnaaﬁﬂ e (8) 2efEm
{© Aluminium (D) Tin ((8 (o) i
% Whichone of the following pairs of gases are s ﬁﬁﬂzﬁ%aﬁ?-ﬁ 7 S R
the major cause of ‘Greenhouse effect’ ? ' - —
(A) CO,and O, {B) CO,and CH, (a) €0, 30, (B) €O, 3N CH,
() CFCand SO, (D) CO,and 0, () CEG 3RS0, (D) co, 30,
AO)
5 The world’s second largest producer of fruits | 75, %ﬂ?@nmw Hed 3R sl 3RS 2
and vegetables is Q —
(A) Israel (B) India C 0" (A)F _ = ‘
(C) Australia (D) Srilanka \2(0 (c) HATRfern (D) #iei=t
% Ifthe State Government dissolves the \$$ 76. e T FEHR %‘ff TR i IE 313&1
Panchayat before the end of its ter resh U B4 @ Tget W11 R ol R, A I 8 A
elections should conduct within______©f %W?;Fﬁ Hafy & sfiqt Fu g1 &1 =R ?
its dissolution. (A) 2 B) 134
(A) 2 years (B) 1year (C) 6TEr ((D; ey
[0 6months (D) 9 months
e g a7 FHE U8 1 SAgaifiaran oi wsft wwmeE
% The total planetary inheritance an™ 7 7 LEpn) FRAT Y |
) 19 ¢ as ¢
ity of all resources is knO'W“ £ (A) Sepferer 3mmaamd (B) S5-fafem
ral calamities (B) Bio-diV i (C) wrfamor (D) A areH
| war
(D) Globa 8. . :
tal mark Wl o g:#’tl P BT, Wi, e s el
the following is a"ci ous mets like (A) Thor el arqatl we snfes fug ® 7
ems made c:f P?" ¢ i et (B) AtemTh
B ?B‘;. Wallmerl por ek (D) 3 # @ 7 7
' t
(g None o't

Y20

Scanned with CamScanner



B

79.

80.

81.

82.

83.

8s.

Y20

SR L (e L 1
R et

Join Telegram Group "HaryanadJobs.in"

Identify the true statements about Speaker of

Lok Sabha.

(A) He maintains the dignity and decorum of
the house. ;

(B) He cast his deciding vote when a bill
gets equal number votes in favour and
against of it,

(C) He is elected by the members of the
Lok Sabha.

(D) All the above

O
‘The Darwin of the 20™ century’ was E*J‘%%
(A) Dan Brown (B) Ernst Mayr.
(C) Robert Coch (D) Albert Ainstein

Who among the following is appointed as the
first Chief Scientist of World Health Organization
(WHO) ?

(A) Neelam Kler

(B} Kamini A. Rao*

(C) Soumya Swaminathan

(D) None of the above

The total number of members appointed by
President to Rajya Sabha is

(A) 12 (B) 06

(C) 05 (D) 01

1-12-91 is the first Sunday. Which is the fourth
Tuesday of December 91 ?

i ) vEaH it
i e AR A G |
(8) 8 3N Foria Ate T ST § 5 fieh
ﬁﬁﬁmqaaﬂtﬁwﬁmmﬁ
are faara 8 |

(©) na}ﬂm%mmﬁe‘m% l

(D) F7irR @it
go, ‘2071 wrared ¥ wifa’ FR S &

79.

A) &7 F13A (8) WW
iC) Jad Fra (D) e AR
% & ford forga Tameed 9734 (WHO) 3
= mmﬁmmw%?
(A) HreH
(B) A T TS
(C) dren WHHTIA
(D) 3a § A 13 &
82. qgdfd g UsaEdl & forg e we=t 1 3w
TR
(A‘ﬁ (B) 06
05 (D) 01

8 BQ-12-913ﬁqsalrﬁaT(m | o=t 91 =1 <ty
QY HTeER e g ?

(A) 31-12-91 (8) 17-12-91 £ () 311201 (B) 17-12-91
(C) 24-12-91 (D) 26-12-91 ot (C) 24-12-91 (D) 26-12-91
The percentage of animals species are $ . 84. 3Infl =& INeiRaq sfig Sttt ht wiasraan

recorded so for
(A) More than 10% $
(B) More than 50% -

(C) More than 70%

(D) More than 30%

Consider the following statements about
“Notifiable disease”,
I. A notifiable disease is any disease that
is required by law to be reported to
m ,gzvernrt?entla:thorities.
- International Health Regulati
of WHO requires diseasi repgpt?ﬂﬁgg
the WHO in order to help with its u(0pal
surveillance and advisory roe, f
Choose the right option given b,ela"w
(A) Both the statements | and‘,u:a-'f’ '
(B) Only statement | s COﬂ'&ﬁ b e grone
(C) Only statement I is corre
(D) Both the statements léﬁ I

(A) 10% & Aftrn
(B) 50% & ftrn E
(C) 70% & 3ftrn %—%‘3‘
(D) 30% & e e
85. ‘gErfta I ko FrfeiRae wer w =R Rt |
|. T g O g @ Wl g wn
wiftrerTiEt Y gferd e s |
Il. WHO & sieieda wameen fafmm, 1969
aﬁéfﬁmﬁfmﬁaﬂtwms@mgﬁa
gﬂmﬁgm%%ﬁwmaﬁmm
|
ﬁqwﬁmﬁéwmgﬁm
(A) e | 31K 1| 1 srgey §
(B) hael A | Heq &
(C) o FU || 5eg B
(D) ¥ | 3R || St Ty &

2
r\{/\ 13 N

Scanned with CamScanner

J-ZJ_;F,
i
g

R R

s




@ Join Telegram Group=sarmg@nadobs.in” g
c

E
A1
86. People who come togety %q@ﬂ‘”
scheduled event are ¢ er for 5 regulan M%
(A) Crowd A ed o e a &
Sourcing 86. ffyasdd @mg
(B) Acting crowds o it B F
(C) Conventional Crowds A 1ft§:ﬁ
(D) Casual (8) I
crowds (©) nmﬁ;{,‘ﬂg a ?ﬁiﬂ"“ﬂ
) !
87. V:hen the price elasticity of demang (D) SR &3 ot
than ' ~end s o :
* Pon‘e,‘ Marginal Revenye has a IS more 87. wa utn A M% W i
ositive value (B) Negative Sitg -0 qﬂ/ (8) ﬁ'dﬂﬂﬂ
(C) Decreasing value (D) Constant valye ,L (A) HATHS (0 ﬁﬂ‘w
e () e T 3 % fa
Direction Q. No. 88 - 90 : Study the following vy . 88 -9 el #
information carefully and answer the questions w 'ﬁﬂﬁﬂm
given below : 1 I AH el ﬁagsﬁﬁﬁ'ﬁﬁ N
PQR,S TV, Wand Z are eight friends studyi V, Wamz:mz
: : ) ylng P; QI Rr SI TI ’ aqu W’
in three different engineering colleges — A B 3 d > # i ¢ 12 ®
: k) _ »Band C | g p, B ARC g A
in three disciplines — Mechanical, Electrical and ’

a A 8
Electronics with not less than two and not more SSEAIE ’ﬁﬁﬁa aﬁ?ﬂqa Fﬁﬂqﬁﬁ

than three in any college. Not more than three | % I?ﬁzﬁﬁﬁ@,ﬂm m%aﬁﬁ T%ﬁm.&h
of them study in any of the three disciplines. RE \Bﬁm

5 qga AN
W studies Electrical in college B with only T who £ A ‘TW% | p 3R A ISR c# 7
studies Mechanical. P and Z do not study in college C > {ﬁﬁ\@m | IR, -caccol
and study in same discipline but not Electrical. Wﬁwq@aéé"a”

2
R studies Mechanical in college C with V who studies_ [y siast CH W%’ vﬂam'ﬁﬁﬁ"ﬁm‘jﬁn
Electrical. S studies Mechanical and does not stl@\ u JRUS W%aﬂt:ﬂ?ﬁﬁmﬁﬁmm R gl

in the same college where R studies. Q does:not

study Electronics. ’ 3 | Q3o e el |
88. In which discipline does Q study ? 88. QW:WWW% ?
[E#ME (A) Datainadequate (A) TR AT &
@é} (B) Electrical (B) Foifdeeher
(C) Mechanical (C) Hehfaret
(D) Electrical and Mechanical (0) RfREw otk A freper
89. In which of the colleges at least one student 89. 2'7-@ Ficro § wy 1 T Reeff
studies in Mechanical discipline ? (A;l?g‘:m% ? : Herfranet
dC d A
(A) Aonly (B) AllA,Ban B (8) A, B
(©) Bonly (0) Conly (© ¥ g 3wy

o0, Fein (D) Ha ¢
~ T =

(B) CR ¥Ry
O) 8wy

90. Which of the following combinations of
college-student—speciaIisation is correct ?.
(A) B-W-Electrical (B) C-R-Electromfs
(C) A-Z-Electrical (D) B-W-Electronics

P 13-
o

S
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% CMES -5
2=t ardl
English Language o> g %ot e e S
_ S & 79T, 3IU291, IEER AT Fl 9y
91. Choose the right synonym of the given word, 9%. o 3l
DECORUM g
(A) Demise (B) Forgery (A) dvTEATd
(C) Conclusion (D) Decency agp—
92. Fill in the blank with right form of the word (C) Geerd
given in bracket from the alternatives given (D) ma‘ﬂﬁ =
below it.
Healthy young women of great beauty and 97. Tt FEa YFTF S |
tastes are honoured everywhere ’ ° e
(delight). (A) 919 o d
(A) delightedly (B) delight (B) A LoeiE
(C) delighted (D) delightful (©) d
93. The given idiom followed by four alternative (D) IR
meanings. Mark the one which you think is
the most appropriate. s ﬁ(\ , e T I L |
Put one’s foot down ‘?
(A) to do something stupid Ofa) w¢
(B) to be firm in opposing something @Q(b (B) ANTEG
(C) todemand .
C) R
(D) to take rest "b<§ 2 i3
94. The following sentence contains gramn&g&l (D) ¥ I3 Tl

error or idiomatic error in it. You ha find SR
99. 3 firm-firs =ivql % wew A =
out that part of the sentence and ose the _—

alphabet of that part as the answer. SASH FEd § |

India needs win the battle of minds within the (A) fe

country before trying to justify itself in the (B) STeqyoy

eyes of the world. X

(A) No error (C) wgF

(B) India needs win the battle of minds (D) ™R HIE T

(C) within the country before trying

(D) to justify itself in the eyes of the world 100. o 3 ) fifey femas w

95. Fill up the blank in the following sentence FEd E |
using the verb forms of the worg given in (A) 318y
bracket from the alternatives given below it. (8) St
Dew _ (moist) the grass at night ?%\'% ,

(A) moistish (B) moist i (C) e

(C) moistness (D) moistens (D) $T8 & d 7

44,
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